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Listening Comprehension Transcript: Task 1

YNWIN NN MDIWN YNYA XNNN ORI NIND ,DOTNON DYV 199
NN 9901 NDIWN
NN DY NIV PN DXTHRYNI NIGDN NOT .M NAD NIATH NN MNYI DYTNIY DN
NID VYA MNNNI VNIAND
0AVN D3 HINNNN NNNNN DX 1IN NI I2TD 1DYPN
A2 IRDNT NNNNY NNNNY NXIWNI VIV DI DY 190NN NN 1IN
0NTO Y2WPN
Example: Eat a healthy breakfast every morning.
JOOT 9N N3N TODNNNY INNNN NOT DNYOYY DIVYND OINDND INNNN - 29D
0AWN 939 NIRNND NNNNT NN 1IN NIVIN INININY DXVAVND 1DYPN PYIY
.D»NYs DOVAVYNT NN IWHYN DNN
WATINHD MNIN INY ¥ 20 WY
Sentence 1: Remember to drink eight glasses of water a day.
PNNNNY NIIWNI DNX 90N NN 12NN LAY NVIRNNT NNNNN DX 1IN
Sentence 2: Sleep eight hours or more every night.
Sentence 3: Play sports at least three times a week.
Sentence 4: Wash your hands before you eat.
Sentence 5: Brush your teeth in the morning and at night.
.NODN DY DOVAYN NN WHYN PYIY  :9»9P
025V MAWNN NX 21720 N0 DINTIN N

.D»NVY 190N NNWNY 1Y
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Listening Comprehension Transcript: Task 2

DYDY 190N TOWN PP
I3 MY MINYD DXTNIY DN
INYN DN WYYV N30 6 TY 2 MONRY NN NP
Y 11WPN
.D»NYH NNOWN DN IWHYN DN

Hello pupils. Please meet Amira. She is a pupil from Tel Aviv and she is here to tell
us about a project called “Kids Talk”.

Hi Amira, please tell us about the project.

Hi everyone. In the project “Kids Talk”, pupils in Israel learn to speak English.
They talk in English on the phone to pupils in America. I talk on the phone to a girl
named Lucy. Lucy lives in America. She is 10 years old just like me. We love to
speak to each other and we are good friends. When we talk Lucy helps me learn
English.

What do you and Lucy talk about?

We talk about many different things. Last week, Lucy told me that she lost her
dog. She could not find him anywhere. I have a small dog too, and sometimes he
likes to sleep under my bed. I told Lucy to look under her bed, and guess what?
She found her dog there!

That was Lucky! Tell me Amira, why do children in America join this project? They
already know English!

(Haha) You are right. Kids in America already speak English, but the project is fun
for them too. They make new friends and learn about Israel.

This project sounds great! Now Amira, you enjoy speaking English and you have a
new friend in America! Thank you for coming and telling us about the project “Kids
Talk”.

LDNYNYY 10190 MONYN DY TPOINI NY - :)99P
DD DY NNV DX WNHYN PYIY
.D025Y MWNN NN PrTAY NI NINTII N
.D2OY MAWNN NN IPTI
NWNN INYI 193Y NN DY PYRIN POND IR NO1D
1INo8Na
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Key: MC = multiple-choice questions
OP = open-ended questions

CL = closed questions

Use of punctuation in the scoring key

separates complete, acceptable answers

() | an optional addition that is part of an acceptable answer

separates acceptable words within an answer

TASK 1: Access to Information from Spoken Texts (AIST)

Task Item # | Item Type Scoring Key P\(z)zls:;:lse

11 MC 2= d 0.2
0 = other

1.2 MC 2= e 0.2
0 = other

13 MC 2= ¢ 0.2
0 = other

1 4 MC 2= a 0.2
0 = other

s MC 2=b 0,2
0 = other

3
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TASK 2: Access to Information from Spoken Texts (AIST)

Task Item # | Item Type Scoring Key P‘(Z):lslill;lse
2 MC 3 = (c) learn English 0,3
0 = other
3 CL 3 = Both parts are filled in or marked correctly: 0,3
a = Israel b= America
0 = other
4 OP 3 = (under the / her / Lucy’s) bed 0,3
Note: Do not deduct points for wrong preposition.
0 = other
E.g., under Amira's bed
5 CL 3 = The pupil chose the two following answers: 0,1,3
to talk to Amira
v to learn about Israel
to be school teachers
to learn English
v to make new friends
1 = The pupil chose two answers and only one answer is
correct; the pupil chose only one correct answer.
0 = other; the pupil chose three or more answers (even
though one or more answers are correct).
6 CL Yes | No 0.1,3
Amira and Lucy are pupils in the same school. v/
Amira and Lucy are ten years old. V4
Amira and Lucy are good friends. v
3 = three correct answers
1 = two correct answers
0 = one correct answer or less

4
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TASK 3: Access to Information from Written Texts (AIWT)

Possible
Task Item # | Item Type Scoring Key Values
(points)
71 MC 4 = (b) cook dinner 0,4
0 = other
72 MC 4 = (a)year 0,4
0 = other
73 MC 4 = (d) doctor 04
0 = other
7_4 MC 4 = (a) are happy 0,4
0 = other
7.5 MC 4 = (b) write 0,4
0 = other
8 OP * Accept all words that match their category and are spelled | 0-3
correctly.

Note: Do not accept the words given as examples.

* Evaluate each of the six words separately and then give a
total score.

3 = six or five correct words

2 = four or three correct words
1 = two or one correct words
0 = other

Note 1: Accept all forms of the words mother / father
(e.g., mom, dad, mum, daddy).

Note 2: In the fruit category, accept both fruit and vegetables.

5
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TASK 4: Access to Information from Written Texts (AIWT)

Possible
Task Item # | Item Type Scoring Key Values
(points)
9 MC 4 = (d) She can't visit her family. 0,4
0 = other
10 CL 4 = The pupil chose the two following answers: 0,24
v They cook lunch.
They play games.
They teach music.
They draw pictures.
v They read stories.
2 = The pupil chose two answers and only one answer is
correct; the pupil chose only one correct answer.
0 = other; the pupil chose three or more answers (even
though one or more answers are correct).
11 MC 4 = (c) help people use the computer 0,4
0 = other
12 oP 4 = (at) www.kidsteach.com; (on the) Internet; (on the) 0,4
computer; (on the) website
0 = other
13 MC 4 = (b) Sara doesn't feel alone anymore. 0,4
0 = other
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Meitzav, 2016
TASK 5: Written Presentation (WP)
Possible
Task Item # | It Scoring K
ask Item em Type coring Key Values
14 opP See instructions below.

General Guidelines

1.

Evaluate each of the four sentences separately according to the list of criteria for assessment
on the next page. Each criterion is given a different number of points.

A sentence must include a subject and a verb (e.g., The dad is tall) and an object when
necessary (e.g., The boy has a helmet). Otherwise, give O for all criteria (e.g., Baby sad; The mom
long hair). In case of a compound sentence all parts of the sentence must include a subject and a
verb and an object when necessary. Otherwise, give O for all criteria.

Give 0 for all criteria if the content of the sentence is:
* incomprehensible
* irrelevant to what is seen in the picture

* irrelevant to the specific instruction: 1. Write a sentence describing the appearance of
one person. 2. Write a sentence describing what one person is doing. 3. Write a sentence
describing the weather. 4. Write a sentence describing what is in the picture.

If there is more than one sentence, evaluate only the first one. A compound sentence is
considered one sentence.

Add up the total points for each of the four sentences.

Use the conversion table to calculate the final grade for task 5 item 14.

7
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List of Criteria LLIC
Values
a. Relevant content and appropriate vocabulary 0,3,7
7 = The content is relevant and the vocabulary is appropriate
(e.g., for instruction 1: The woman has long hair. For instruction 2: The boy is
riding a bike).
3 = The content is partially relevant and / or some words are inappropriate
(e.g., for instruction 1: The father has glasses and a hat).
0 = If the content is irrelevant and / or the vocabulary is inappropriate, give O for
all criteria.
b. Subject-verb agreement and correct form of the verb 0,3
3 = There is subject-verb agreement and the verb is formed correctly.
0 = There is no subject-verb agreement and / or the verb isn’t formed correctly
(e.g., The father have glasses).
c. Correct word order [e.g., subject, verb, object] 0,4
4 = Word order is correct.
0 = Word order is incorrect (e.g., Has father glasses).
d. Correct pronouns, articles, and prepositions 0,2
2 = Correct use of pronouns, articles, and the following prepositions: in, under,
near, next to (as prepositions of place), with, to.
0 = Incorrect use of pronouns, articles, and the following prepositions: in, under,
near, next to (as prepositions of place), with, to (e.g., The father has a glasses).
e. Correct spelling 0,2
2 = Spelling of words is correct or there is only one misspelled word.
0 = There are two or more misspelled words (e.g., The fader has glasis).
f. Correct capitalization 0,2
2 = Capitalization is correct.
0 = Capitalization is incorrect.
g. Correct use of full stops 0,1

1 = The use of full stops is correct.

0

The full stop has been omitted.

8
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Conversion Table
Total number of points for Final grade
the four sentences together for Task 5 Item 14 (a-g)
78-84 12
71-77 11
64-70 10
57-63 9
50-56 8
43-49 7
36-42 6
29-35 5
22-28 4
15-21 3
8-14 2
1-7 1
0 0

For scoring examples of the written presentation task see appendix.

9
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TASK 6: Access to Information from Written Texts (AIWT)

Possible
Task Item # | Item Type Scoring Key Values
(points)

15 MC 4 = (d) to teach children 0,4

0 = other

16 MC 3 = (b) to build walls from bottles 0,3
0 = other

17 0] 3 = (to make them) heavy; strong; heavy and strong 0,3

0 = other

18 CL 4 = The pupil chose the two following answers: 0,2,4
They learn about Africa.
They make plastic bottles.

v The village is clean.

v The classrooms have walls.
The school gets a lot of money.

2 = The pupil chose two answers and only one answer is
correct; the pupil chose only one correct answer.

0 = other; the pupil chose three or more answers (even
though one or more answers are correct).

19 CL 3 = All sentences must be sequenced correctly to receive 0,3
full points.

4 The pupils build walls.

3 The pupils find bottles in the village.

2 Lisa sees that the classrooms don't have walls.

S The pupils are happy to study in the classrooms.
1 Lisa comes to the village.

0 = other

20 OP 3 = Any answer that relates to the children's feelings before 0,3
Lisa came to the village and includes an appropriate
explanation based on information from the text.

E.g. They were sad they don't have classrooms with walls;
I think the children are happy because Lisa is coming to
their village (shows anticipation).

0 = other

10
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Appendix

Examples of Scoring of the Written Presentation Task

1. Write a sentence describing the appearance of one person.

Example 1: The mom smile

Criteria Possible | Value Reason
Values | given
a. Relevant content and The content is relevant. The sentence describes
appropriate vocabulary 0,3,7 7 one person in the picture, therefore give full
points.
b. Subject-verb agreement There is no subject verb agreement, therefore
and correct form of the 0.3 0 give 0 points.
verb ’ subject - ‘mom’; verb - ‘smile’ (should be

‘is smiling’ or ‘smiles’)

c. Correct word order [e.g., Word order is correct, therefore give full points.

subject, verb, object] 04 4 subject - ‘mom’; verb - ‘smile’
d. Correct pronouns, 02 ) Correct use of the article ‘The’ at the beginning

articles and prepositions ’ of the sentence, therefore give full points.
e. Correct spelling 0,2 2 Spelling is correct, therefore give full points.

Correct capitalization 02 ) Capitalization is correct. The sentence starts

’ with a capital letter, therefore give full points.
g. Correct use of full stops 0.1 0 Thfe full stop has been omitted, therefore give 0
points.
11
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Example 2: the hat on the hade and jacket long.
General Guidelines: A sentence must include a subject and a verb and an object when necessary.
This sentence is missing a verb, therefore give O for all criteria.

Criteria Possible | Value Reason
Values | given
. Rel t content and
a. Re evan. content an 03,7 0
appropriate vocabulary
b. Subject-verb agreement
and correct form of the 0,3 0
verb
c. Correct word order [e.g.,
. . 0.4 0
subject, verb, object]
d. C
o‘rrect pronouns, N 0.2 0
articles and prepositions
e. Correct spelling 0,2 0
Correct capitalization 0,2 0
g. Correct use of full stops 0,1 0

Example 3: There is baby sad.

Criteria Possible | Value Reason
Values | given

a. Relevant content and 0.3.7 7 The content is relevant. The sentence describes a
appropriate vocabulary o person in the picture, therefore give full points.
b. Subject-verb agreement There is subject verb agreement and the verb is
and correct form of the 0,3 3 formed correctly, therefore give full points.
verb The verb - ‘is’ agrees with ‘baby’.
c. Correct word order [e.g., 0.4 0 Incorrect word order (baby sad), therefore give 0
subject, verb, object] ’ points.
d. Correct pronouns, 02 0 The article ‘a’ is missing (should be a sad baby),
articles and prepositions ’ therefore give 0 points.
e. Correct spelling 0,2 2 Spelling is correct, therefore give full points.
Correct capitalization 02 ) Capitalization is correct. The sentence starts
’ with a capital letter, therefore give full points.
g. Correct use of full stops 0.1 | The use of full stops is correct, therefore give
’ full points.
12
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Example 4: The gurl give man hug.
General Guidelines: The content is irrelevant to the specific instruction, therefore give O for all
criteria.

Criteria Possible | Value Reason
Values | given
a. Relevant content and
appropriate vocabulary 0.3,7 0
b. Subject-verb agreement
and correct form of the 0,3 0
verb
c. Correct word order [e.g.,
subject, verb, object] 0.4 0
d. Correct pronouns,
articles :nd prepositions 0.2 0
e. Correct spelling 0,2 0
Correct capitalization 0,2 0
g. Correct use of full stops 0,1 0
Example 5: Ded is smaile.
Criteria Possible | Value Reason
Values | given
a. Relevant content and 0.3.7 7 The content is relevant. The sentence describes a
appropriate vocabulary o person in the picture, therefore give full points.
b. Subject-verb agreement There is subject-verb agreement, but the verb is
and correct form of the 0,3 0 not formed correctly (‘is smaile’ instead of ‘is
verb smiling’), therefore give 0 points.
c. Correct word order [e.g., 0.4 4 Correct word order, therefore give full points.
subject, verb, object] ’ subject - ‘Ded’; verb - ‘is smaile’
d. Correct pronouns, 02 ) If there is no need for articles, pronouns or
articles and prepositions ’ prepositions in the sentence, give full points.
e. Correct spelling 02 0 Two words (Ded, smaile) are misspelled,
’ therefore give 0 points.
f. Correct capitalization 0.2 ) Capitalization is correct. The sentence starts
’ with a capital letter, therefore give full points.
g. Correct use of full stops 0.1 | The use of full stops is correct, therefore give
’ full points.
13
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2. Write a sentence describing what one person is doing.

Example 1: The boy is ride on bike

Criteria Possible | Value Reason
Values | given

a. Relevant content and The content is relevant and the vocabulary is

appropriate vocabulary 0.3.7 7 appropriate. The sentence describes what one
7 person is doing in the picture, therefore give full
points.

b. Subject-verb agreement There is subject verb agreement, but the verb
and correct form of the 0.3 0 isn’t formed correctly (‘is ride’ instead of ‘is
verb ’ riding’), therefore give O points.

subject - ‘boy’; verb - ‘is ride’

c. Correct word order [e.g., 0.4 4 Word order is correct, therefore give full points.
subject, verb, object] ’

d. Correct pronouns, 0.2 0 The article ‘a’ is missing before ‘bike’, therefore
articles and prepositions ’ give 0 points.

e. Correct spelling 0,2 2 Spelling is correct, therefore give full points.
Correct capitalization Capitalization is correct. The sentence starts

0,2 2 ) ) ; .
with a capital letter, therefore give full points.
g. Correct use of full stops 01 0 The full stop has been omitted, therefore give 0
’ points.
14
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Example 2: Mam is a jacket
General Guidelines: The content is irrelevant to the specific instruction, therefore give O for all
criteria.

Criteria Possible | Value Reason
Values | given
a. Relevan.t content and 03.7 0
appropriate vocabulary
b. Subject-verb agreement
and correct form of the 0,3 0
verb
c. Correct word order [e.g.,
. ) 0,4 0
subject, verb, object]
d. Correct pronouns,
. o 0,2 0
articles and prepositions
e. Correct spelling 0,2 0
Correct capitalization 0,2 0
g. Correct use of full stops 0,1 0

Example 3: The mather help is a boy

Criteria Possible | Value Reason
Values | given

a. Relevant content and The content is relevant and the vocabulary is
appropriate vocabulary 0,3,7 7 appropriate. The sentence describes what the
mother is doing, therefore give full points.
b. Subject-verb agreement There is subject-verb agreement, but the verb
and correct form of the isn’t formed correctly (it should be
0,3 0 . . . .
verb is helping’), therefore give O points.

subject - ‘mather’; verb - ‘help is’

c. Correct word order [e.g., Word order is correct, therefore give full points.

subject, verb, object] 0.4 4
d. Correct pronouns, Correct use of the article ‘The’ at the beginning
articles and prepositions 0,2 2 of the sentence and ‘a’ before ‘boy’, therefore
give full points.
e. Correct spelling 02 ) Only one misspelled word (‘mather’), therefore
’ give full points.
f. Correct capitalization Capitalization is correct. The sentence starts
0,2 2 : ) . .
with a capital letter, therefore give full points.
g. Correct use of full stops 01 0 The full stop has been omitted, therefore give 0
’ points.
15
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Example 4: boy learn ride.
Criteria Possible | Value Reason

Values | given

a. Relevant content and The content is relevant and the vocabulary is
appropriate vocabulary 0,3,7 7 appropriate. The sentence describes what the

boy is doing, therefore give full points.

b. Subject-verb agreement There is no subject-verb agreement and the verb
and correct form of the 0,3 0  |isn’t formed correctly, therefore give O points.
verb subject - ‘boy’; verb - ‘learn’

c. Correct word order [e.g., 0.4 4 Word order is correct, therefore give full points.
subject, verb, object] ’

d. Correct pronouns, 0.2 0 The article ‘The’ is missing at the beginning of
articles and prepositions ’ the sentence, therefore give O points.

e. Correct spelling 0,2 2 Spelling is correct, therefore give full points.
Correct capitalization 0.2 0 Capitalization is incorrect. The sentence doesn’t

’ start with a capital letter, therefore give O points.

g. Correct use of full stops 0.1 | The use of full stops is correct, therefore give

full points.

Example 5: The child is Happy.

General Guidelines: The content is irrelevant to the specific instruction, therefore give 0 for all

criteria.
Criteria Possible | Value Reason
Values | given
. Rel t content and
a. Re evan. content an 03,7 0
appropriate vocabulary
b. Subject-verb agreement
and correct form of the 0,3 0
verb
c. Correct word order [e.g.,
. . 0.4 0
subject, verb, object]
d. C t
o'rrec pronouns, N 0.2 0
articles and prepositions
e. Correct spelling 0,2 0
Correct capitalization 0,2 0
g. Correct use of full stops 0,1 0
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Example 6: The mom Walk.
Criteria Possible | Value Reason

Values | given

a. Relevant content and The content is relevant and the vocabulary is
appropriate vocabulary 0,3,7 7 appropriate. The sentence describes what the
mother is doing, therefore give full points.
b. Subject-verb agreement There is no subject-verb agreement, therefore
and correct form of the 0,3 0 give 0 points.
verb subject- ‘mom’; verb - ‘walk’
c. Correct word order [e.g., 0.4 4 Word order is correct, therefore give full points.
subject, verb, object] ’
d. Correct pronouns, 02 ) Correct use of the article ‘The’ at the beginning
articles and prepositions ’ of the sentence, therefore give full points.
e. Correct spelling 0,2 2 Spelling is correct, therefore give full points.
Correct capitalization Capitalization is incorrect. There is a capital ‘W’
0,2 0 in the middle of the sentence, therefore give 0
points.
g. Correct use of full stops 0.1 | The use of full stops is correct, therefore give
’ full points.
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3. Write a sentence describing the weather in the picture.

Example 1: It's cold.

Criteria Possible | Value Reason
Values | given
a. Relevant content and The content is relevant and the vocabulary is
appropriate vocabulary 0,3,7 7 appropriate. The sentence describes the weather
in the picture, therefore give full points.
b. Subject-verb agreement There is subject-verb agreement, therefore give
and correct form of the 0,3 3 full points.
verb subject - ‘It’; verb - ‘is’

c. Correct word order [e.g., Word order is correct, therefore give full points.

subject, verb, object] 0.4 4
d. Correct pronouns, 0.2 ) Correct use of the pronoun ‘It’, therefore give
articles and prepositions ’ full points.
e. Correct spelling 0,2 2 Spelling is correct, therefore give full points.
Correct capitalization Capitalization is correct. The sentence starts
0.2 2 with a capital letter, therefore give full points.
g. Correct use of full stops 0.1 ] The use of full stops is correct, therefore give
’ full points.
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Example 2: Is cold
General Guidelines: A sentence must include a subject and a verb and an object when necessary.
This sentence is missing a subject, therefore give O for all criteria.

Criteria Possible | Value Reason
Values | given
. Rel t content and
a. Re evan. content an 03,7 0
appropriate vocabulary
b. Subject-verb agreement
and correct form of the 0,3 0
verb
c. Correct word order [e.g.,
. . 0,4 0
subject, verb, object]
d. C
O‘rrect pronouns, N 0.2 0
articles and prepositions
e. Correct spelling 0,2 0
Correct capitalization 0,2 0
g. Correct use of full stops 0,1 0

Example 3: Picture is wendy

Criteria Possible | Value Reason
Values | given

a. Relevant content and The word ‘picture’ is inappropriate to describe
appropriate vocabulary 0,3,7 3 the weather (It should be ‘It is’ or ‘The
weather’), therefore give partial points.
b. Subject-verb agreement There is subject-verb agreement and the verb
and correct form of the 0,3 3 is formed correctly, therefore give full points.
verb subject - ‘Picture’; verb - ‘is’

c. Correct word order [e.g., Word order is correct, therefore give full points.

subject, verb, object] 0.4 4
d. Correct pronouns, 0.2 0 The article ‘The’ is missing at the beginning of
articles and prepositions ’ the sentence, therefore give O points.
e. Correct spelling 0.2 ) Only one misspelled word (‘wendy’), therefore
’ give full points.
f. Correct capitalization Capitalization is correct. The sentence starts
0.2 2 with a capital letter, therefore give full points.
g. Correct use of full stops 0.1 0 Th.e full stop has been omitted, therefore give 0
points.
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Example 4: The weather in a buot.

General Guidelines: Give 0 points for all criteria if the content of the sentence is incomprehensible.
A sentence must include a subject and a verb and an object when necessary. This sentence is
incomprehensible and is missing a verb, therefore give O for all criteria.

Criteria Possible | Value Reason
Values given
. Rel t content and
a. Re evan. content an 03,7 0
appropriate vocabulary
b. Subject-verb agreement
and correct form of the 0,3 0
verb
c. Correct word order [e.g.,
. . 0,4 0
subject, verb, object]
d. C t
o'rrec pronouns, N 0.2 0
articles and prepositions
e. Correct spelling 0,2 0
Correct capitalization 0,2 0
g. Correct use of full stops 0,1 0

Example 5: The seson is Wentar.

Criteria Possible = Value Reason
Values | given

a. Relevant content and The content is relevant and the vocabulary is
appropriate vocabulary 0,3,7 7 appropriate. The sentence describes the weather
in the picture, therefore give full points.
b. Subject-verb agreement There is subject-verb agreement, therefore give
and correct form of the 0,3 3 full points.
verb subject- ‘seson’; verb — ‘is’
c. Correct word order [e.g., 0.4 4 Word order is correct, therefore give full points.
subject, verb, object] ’
d. Correct pronouns, 0.2 ) Correct use of the article ‘The’ at the beginning
articles and prepositions ’ of the sentence, therefore give full points.
e. Correct spelling 0.2 0 Two words (seson, Wentar) are misspelled,
’ therefore give 0 points.
f. Correct capitalization Capitalization is incorrect. There is a capital ‘W’
0,2 0 in the middle of the sentence, therefore give 0
points.
g. Correct use of full stops 01 | The use of full stops is correct, therefore give

full points.
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General Guidelines: A sentence must include a subject and a verb and an object when necessary.
This sentence is missing a verb, therefore give O for all criteria.

Criteria Possible | Value Reason
Values | given
a. Relevant content and
appropriate vocabulary 0.3,7 0
b. Subject-verb agreement
and correct form of the 0,3 0
verb
c. Correct word order [e.g.,
subject, verb, object] 0.4 0
d. Correct pronouns,
articles :nd prepositions 0.2 0
e. Correct spelling 0,2 0
Correct capitalization 0,2 0
g. Correct use of full stops 0,1 0
Example 7: There is a cold.
Criteria Possible | Value Reason
Values | given
a. Relevant content and The content is relevant, but the vocabulary is
appropriate vocabulary 0,3,7 3 |inappropriate (should be ‘it’ instead of ‘there’),
therefore give partial points.
b. Subject-verb agreement The verb is formed correctly, therefore give full
and correct form of the 0,3 3 points.
verb
c. Correct word order [e.g., 0.4 4 Word order is correct, therefore give full points.
subject, verb, object] ’
d. Correct pronouns, articles 02 0 Incorrect use of the article ‘a’ before ‘cold’,
and prepositions ’ therefore give 0 points.
e. Correct spelling 0,2 2 Spelling is correct, therefore give full points.
f. Correct capitalization 0.2 ) Capitalization is correct. The sentence starts
’ with a capital letter, therefore give full points.
g. Correct use of full stops 0.1 | The use of full stops is correct, therefore give
’ full points.
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4. Write a sentence describing what is in the picture.

Example 1: There is a great day to picnic then the family making a picnic.

Criteria Possible | Value Reason
Values | given

. Relevant content and 03.7 7 The content is relevant and the vocabulary is
appropriate vocabulary o appropriate, therefore give full points.

. Subject-verb agreement There is subject verb agreement and correct
and correct form of the form of the verb in the first part of the sentence
verb (the verb ‘is’ agrees with ‘day’). However,

the verb ‘making’ is formed incorrectly in the
0,3 0 |second part of the sentence (‘making’ instead of

‘s making’).

In a compound sentence, the verbs in both parts

of the sentence should be formed correctly,

therefore give O points.

. Correct word order [e.g., 0.4 4 Word order is correct in both parts of the
subject, verb, object] ’ sentence, therefore give full points.

. Correct pronouns, 02 ) Correct use of articles and prepositions,
articles and prepositions ’ therefore give full points.

e. Correct spelling 0,2 2 Spelling is correct, therefore give full points.
Correct capitalization 0.2 ) Capitalization is correct. The sentence starts
’ with a capital letter, therefore give full points.
. Correct use of full stops 0.1 | The use of full stops is correct, therefore give
’ full points.
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Example 2: Tt is tree.
Criteria Possible | Value Reason
Values given
a. Relevant content and The content is relevant, but some vocabulary is
appropriate vocabulary 0.3.7 3 inappropriate to describe what is in the picture
o (‘It’ instead of ‘There’), therefore give partial
points.
b. Subject-verb agreement There is subject-verb agreement, therefore give
and correct form of the 0,3 3 |full points.
verb subject- ‘It’ ; verb- ‘is’
c. Correct word order [e.g., 0.4 4 Word order is correct, therefore give full points.
subject, verb, object] ’
d. Correct pronouns, 02 0 The article ‘a’ is missing before ‘tree’, therefore
articles and prepositions ’ give 0 points.
e. Correct spelling 0,2 2 Spelling is correct, therefore give full points.
Correct capitalization Capitalization is correct. The sentence starts
0,2 2 . . . .
with a capital letter, therefore give full points.
g. Correct use of full stops 01 1 The use of full stops is correct, therefore give

full points.

Example 3: in picture have piknik with Food
General Guidelines: A sentence must include a subject and a verb and an object when necessary.
This sentence is missing a subject, therefore give O for all criteria.

Criteria Possible | Value Reason
Values | given
. Rel t content and
a eevan. content an 03,7 0
appropriate vocabulary
b. Subject-verb agreement
and correct form of the 0,3 0
verb
c. Correct word order [e.g.,
. . 0.4 0
subject, verb, object]
d. C t
o'rrec pronouns, N 0.2 0
articles and prepositions
e. Correct spelling 0,2 0
f. Correct capitalization 0,2 0
g. Correct use of full stops 0,1 0
23

100-ENG-016-5-SOF-p-pnimi 14:01,12/04/16  100-02-05-01-01-01-015-016-03  (5) 1 >35> mobaaxa 100 %30
TN TN , TN NOIYM DTN TPNIND MYIN — N7HONID MNHDY NN D) ©



DIINNTIN MM

SNV NITN

TN TIWN

72K
TININD MWD
TN NI NTTNRO

SCORING KEY FOR THE ENGLISH TEST - 5th Grade

Meitzav, 2016
Example 4: Ther is a food.
Criteria Possible | Value Reason
Values | given

. Relevant content and The content is relevant to describe what is in
appropriate vocabulary 0,3,7 7 the picture and the vocabulary is appropriate,

therefore give full points.

. Subject-verb agreement There is subject-verb agreement, therefore give
and correct form of the 0,3 3 full points. The verb- ‘is’ agrees with ‘food’.
verb

. Correct word order [e.g., 0.4 4 Word order is correct, therefore give full points.
subject, verb, object] ’

. Correct pronouns, 02 0 Incorrect use of article ‘a’ before non-count
articles and prepositions ’ word ‘food’, therefore give O points.

. Correct spelling 02 ) Only one misspelled word (‘Ther’), therefore

’ give full points.
Correct capitalization 02 ) Capitalization is correct. The sentence starts
’ with a capital letter, therefore give full points.
. Correct use of full stops 0.1 | The use of full stops is correct, therefore give

full points.

Example 5: T see a tree, basket and boat.

Criteria Possible | Value Reason
Values | given
. Relevant content and The content is relevant to describe what is in
appropriate vocabulary 0,3,7 7 the picture and the vocabulary is appropriate,
therefore give full points.
. Subject-verb agreement There is subject-verb agreement, therefore give
and correct form of the 0,3 3 full points.
verb subject- ‘I’; verb- ‘see’
. Correct word order [e.g., 0.4 4 Word order is correct, therefore give full points.
subject, verb, object] ’
. Correct pronouns, 0.2 ) Correct use of pronouns, articles and
articles and prepositions ’ prepositions, therefore give full points.
e. Correct spelling 0,2 2 Spelling is correct, therefore give full points.
Correct capitalization 02 ) Capitalization is correct. The sentence starts
’ with a capital letter, therefore give full points.
. Correct use of full stops 0.1 | The use of full stops is correct, therefore give
’ full points.
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Example 6: The in picture has food.
Criteria Possible | Value Reason
Values given
. Relevant content and 03.7 7 The content is relevant and the vocabulary is
appropriate vocabulary = appropriate, therefore give full points.
. Subject-verb agreement There is subject-verb agreement, therefore give
and correct form of the 0,3 3 |full points.
verb subject- ‘The picture’ ; verb- ‘has’
. Correct word order [e.g., 0.4 4 Word order is correct, therefore give full points.
subject, verb, object] ’
. Correct pronouns, 02 0 Incorrect use of the preposition ‘in’ before
articles and prepositions ’ ‘picture’, therefore give O points.
. Correct spelling 0,2 2 Spelling is correct, therefore give full points.
Correct capitalization Capitalization is correct. The sentence starts
0,2 2 : . : i
with a capital letter, therefore give full points.
. Correct use of full stops 01 1 The use of full stops is correct, therefore give
’ full points.

Example 7: There are one basket four sandwiches four glass with juice and five
apples. Also in the picture has one ship and one tree

General Guidelines: There is more than one sentence, therefore evaluate only the first one: 'There
are one basket four sandwiches four glass with juice and five apples.’

Criteria Possible | Value Reason
Values | given

a. Relevant content and 03,7 7 The content is relevant and the vocabulary is
appropriate vocabulary o appropriate, therefore give full points.

b. Subject-verb agreement There is no subject-verb agreement, therefore
and correct form of the 0,3 0 give 0 points. The verb ‘are’ doesn’t agree with
verb ‘one basket’.

c. Correct word order [e.g., 0.4 4 Word order is correct, therefore give full points.
subject, verb, object] ’

d. Correct pronouns, 02 ) If there is no need for articles, pronouns or
articles and prepositions ’ prepositions in the sentence, give full points.

e. Correct spelling 0,2 2 Spelling is correct, therefore give full points.
Correct capitalization 0.2 ) Correct capitalization. The sentence starts with a

’ capital letter, therefore give full points.
g. Correct use of full stops 0.1 | The use of full stops is correct, therefore give
’ full points.
25

100-ENG-016-5-SOF-p-pnimi 14:01,12/04/16  100-02-05-01-01-01-015-016-03  (5) 1 >35> mobaaxa 100 %30
TN TN , TN NOIYM DTN TPNIND MYIN — N7HONID MNHDY NN D) ©



